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H17.10.1

Neo

H17 2 |H17 7
1 2004/12/271 2006/3/31 1 6 22 330 600
2 2004/12/241 2006/3/31 1 6 22 170 380
3 2004/12/201 2006/3/31 1 6 22 170 250
4 20057771 1 2006737311 6 22 620
B 2005/4/17.1 2006/3/31 24hr 1.260
0 2005/4/22 1 2005/9/251 7 19 70
7 2005/4/22 1 2005/9/251 7 19 90
8 2004/12/101 2006/3/311 6 22 690 1.400
9 2005/4/25 | 2006/3/31 1 6 22 290
10 20047127181 2006737311 6 22 180 150
11 2005/4/24 1 2006/3/31 24hr 600
12 2005/4/21 1 2006/3/311 6 20 260
13 2004/12/241 2006/3/31 24hr 220 560
14 2005/6/1 12006737311 6 22 860
15 200571711 1 2006737311 6 20 720
16 2005/4/25 1 2006/3/31 24br 150
17 2005/6/20 1 2005/9/191 6 22 360
18 2005/4/11 1 2006/3/31 24hr 190 500
19 2005/6/1 12005/8/311 6 22 130
20 2005/4/16 1 2005/8/21 195 21 210
21 200571711 1 2008/9/25 1 6 20 130 180
22 2005/1/11 1 2005/8/31 0 20 130 90
23 2004/10/151 2005/1/31 1 7 20 150
24 2004/12/1812005/11/131 6 22 200 260
25 2004/12/181 2006737311 6 23 240 370
26 2004/12/181 2006737311 6 22 60 110
27 20047107311 2006737311 6 22 170 290
28 2004/12/181 2006/3/26 24hr 460 920
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